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Question Number : 1 Question Id : 2549896488 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
A named area on a disk that is used to store related sub-folders and files is called a

Options :

1. % desktop
2. ¥ folder
3. ¥ menu

4. % window

Question Number : 1 Question Id : 2549896488 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. & 2gaeiy

LN



2. ¥ ISR

3. % A7

4. % gfet

Question Number : 2 Question Id : 2549896866 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Computers use the number system to store data and perform calculations.

Options :

1. binary

2. * decimal

3. ¥ hexadecimal

4. % octal

Question Number : 2 Question Id : 2549896866 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. ¢ a1



Question Number : 3 Question Id : 2549896879 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
RAM, ROM and flash are types of

Options :

1. % monitors

2. ¥ memories
3. ¥ keyboards

4. % processors

Question Number : 3 Question Id : 2549896879 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
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Options:

Question Number : 4 Question Id : 2549897083 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Flash drive is a type of:



Options :

1. * ROM

2. % software

3. # operating system

4. ¢ storage device

Question Number : 4 Question Id : 2549897083 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. = ROM

2. % githeaR

3. % SifeRef afEn

4, ¥ H8RUT U0 (storage device)

Question Number : 5 Question Id : 2549897523 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
What is the keyboard shortcut for inserting a manual page break in OpenOffice Writer?

Options :
1. # Alt + Enter
2. % Ctrl + Alt+ Enter

3. % Ctrl + Enter



4. % Shift + Enter

Question Number : 5 Question Id : 2549897523 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
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Options :

1. % Alt + Enter

2. % Ctrl + Alt + Enter
3. % Ctrl + Enter

4. % Shift + Enter

Question Number : 6 Question Id : 2549898466 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Which function returns the internal rate of return for a series of cash flows represented by the

numbers in values in MS-Excel 2019?

Options :

1. # IRPN function
2. * MIRR function
3. ¥ IRR function

4. % MIRPN function

Question Number : 6 Question Id : 2549898466 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time



:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. # IRPN et
2. % MIRR Hhent™
3. ¢ IRR Heh’H

4. % MIRPN therg™

Question Number : 7 Question Id : 2549898744 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
A is used for reading bar coded data.

Options :

1. ¥ point-of-sale (POS) scanner
2. * marker

3. ¥ stylus

4, # joystick

Question Number : 7 Question Id : 2549898744 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options:



1. ¢ UlEc-3ith-TeT (POS) bR
2. ¥ ARMR
3. ¥ gerge™

4, % Srgecfe

N

Question Number : 8 Question Id : 2549899333 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Which printer prints data or images by spraying small droplets of ink at high speed onto the

surface of the paper?

Options :

1. ¥ Ink jet printer
2. * Laser printer
3. % Drum printer

4. % Dot matrix printer

Question Number : 8 Question Id : 2549899333 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options:
1. ¢ §a Sic RIR
2. ¥ AoR iR

3. % g Rf&R



4, % gic Ao |feR

Question Number : 9 Question Id : 25498911611 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

When you save your data to , it will remain intact even when the computer is turned off.

Options :

1. ®* the RAM

2. * the motherboard

3. ¥ a secondary storage device

4, % a primary storage device

Question Number : 9 Question Id : 25498911611 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. # 37 (RAM)

2. # A IRS (the motherboard)

3. ¢ gafdiae vierur Sfarsd (a secondary storage device)

4. % qRryHfd Yierur Sfargd (a primary storage device)

Question Number : 10 Question Id : 25498922519 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0

Which of the following keyboard shortcut in MS-Excel 2019 is used for navigating in cells to the

lowest used row of the rightmost used column?

Options :

1. % Tab

2. * End + Arrow key
3. #* Ctrl + Home

4. % Ctrl + End

Question Number : 10 Question Id : 25498922519 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options:

1. % Tab

2. * End + Arrow key
3. ¥ Ctrl + Home

4.+ Ctrl + End

Question Number : 11 Question Id : 25498929849 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A complex barcode that includes information such as price, quantity, web address or image is a:
Options :

1.



v 2D barcode
2. * linear barcode
3. #* 1D barcode

4. *# text barcode

Question Number : 11 Question Id : 25498929849 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. ¥ 2D IR%IS
2. % gl IRpIS
3. # 1D SRpIS

4, % Ihye IRAIS

Question Number : 12 Question Id : 25498930384 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following is not a type of optical blu-ray disk?

Options :
1. % BD-R
2. # BD-RE
3. % BD-XL

4. + BD-XR



Question Number : 12 Question Id : 25498930384 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options:
1. % BD-R
2. # BD-RE
3. % BD-XL

4. + BD-XR

Question Number : 13 Question Id : 25498930584 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

is a very high speed semiconductor memory which can speed up the CPU. It acts as a buffer

between the CPU and the main memory.

Options :

1. # Blue-Ray Disk Read Only Memory
2. % Primary memory

3. #* Secondary memory

4. ¥ Cache memory

Question Number : 13 Question Id : 25498930584 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :
1. ® geg-R e de 3t AR (Blue-Ray Disk Read Only Memory)
2. ¥ goHfs AR

3. ¥ cgfdtaes AFRt

4, « G /AR

Question Number : 14 Question Id : 25498930887 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following is a real-life application of a plotter?

Options :

1. # Creating video

2. * Creating audio

3. ¢ Creating wall stickers

4. # Communicating

Question Number : 14 Question Id : 25498930887 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
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Options:

1. % fehRit gamr

2.



® 3ffsft samT
3. ¢ i el =T

4, ¥ IR

Question Number : 15 Question Id : 25498930947 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

In order to create an image on display, an LCD uses layers of different materials through which a
light is passed. Identify the option that arranges the layers in correct sequence from bottom to
top.

Options :

1. ¢ Mirror ->Polarising film -> Glass filter ->Negative electrode -> Liquid crystal Layer -> Positive

electrode -> Glass filter -> Polarising film -> Cover glass
2. # Polarising film -> Glass with electrode -> Liquid crystal -> Electrode -> Polarising film -> Mirror
3. # Liquid crystal -> Polarizing film -> Glass with electrode -> Polarising film -> Electrode -> Mirror

4. # Mirror -> Electrode -> Polarising film -> Glass with electrode -> Polarising film -> Liquid crystal

Question Number : 15 Question Id : 25498930947 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. ¢ AR -> TR hied -> T Hiclex -> Atefd saanie -> dfthafe axf¥ca R -> ufsifefa saenate ->
AT hfeleR -> UIeRTSSI hied -> e Ty

2.



# glerTSSIf e -> TelTd dafd Salchedls -> dfchals e -> Sechede -> WeRIgSIl hieH -> ARR
3. ® dAfhafs AR -> TeRIZHAN Hield -> AT afe SRS -> TeRIZSI Hiel -> Fathede -> ARY

4, ¥ ARR -> FARAS -> NeRIFSAN Tl -> T afe FAheS -> UeRgSIN tied -> dfchals axfes

Question Number : 16 Question Id : 2549897691 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
The TCP/IP protocol suite was officially adopted by the in 1983.

Options :

1. ¥ ARPANET
2. %# USENET
3. # NEMA

4. # SONET

Question Number : 16 Question Id : 2549897691 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. ¥ 3RUMe (ARPANET)
2. % gge (USENET)

3. % 3u1 (NEMA)

4. % ge(SONET)



Question Number : 17 Question Id : 2549899431 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.AThink Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
What are the types of orientation for printing a page in MS-Word 2019?

Options :

1. * Portrait only

2. # Landscape only

3. % Both Portrait and Landscape

4. * Diagonal

Question Number : 17 Question Id : 2549899431 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options:
1. * Ga URede

2. ¥ Rhad dSqhy

3. ¥ ORI 3R egehy gt

A

4, % SIAA

Question Number : 18 Question Id : 2549899494 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Which option of Review tab is used, If you want to print your document in MS-Word 2019 without



any comments?

Options:

1. # Markup

2. ¥ No Markup
3. # Comments

4, * No Comments

Question Number : 18 Question Id : 2549899494 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. # AR3T (Markup)

2. ¢ 91 aR&31d (No Markup)
3. ¥ dfcg (Comments)

4, % Tt ey (No Comments)

Question Number : 19 Question Id : 25498910856 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following units is NOT used to measure the speed of a printer?

Options :

1. * CPM



2. % LPM
3. * PPM

4.« BIT

Question Number : 19 Question Id : 25498910856 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :
1. % CPM
2. % LPM
3. % PPM

4.+ BIT

Question Number : 20 Question Id : 25498911124 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Device drivers are a group of files which will help the hardware device to communicate with the

computer's

Options :

1. % operating system
2. * motherboard

3. # peripherals

4. % memory



Question Number : 20 Question Id : 25498911124 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. ¢ sifeft ol

4. % AR

Question Number : 21 Question Id : 25498911223 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Which of the following in MS-PowerPoint 2019 gives various options for saving, opening, printing,

and sharing your presentations?

Options :

1. % Slide Navigation Pane
2. * Slide Pane

3. ¥ Backstage view

4, ® Zooming in and out

Question Number : 21 Question Id : 25498911223 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0
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o Hivfe 8id 87

Options :

1. ¥ gerss AafieE 84 (Slide Navigation Pane)
2. ® gerge 94 (Slide Pane)

3. ¢ d& ¢ 9Y (Backstage View)

4. % SAM 37 S 313 (Zooming In and Out)

Question Number : 22 Question Id : 25498911224 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.AThink Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following option is not helpful in aligning objects in MS-PowerPoint 2019?

Options :
1. %* Align
2. % Guides
3. # Gridline

4. + Checkboxes

Question Number : 22 Question Id : 25498911224 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
fAaRafa & @ &4 a1 afdhely MS-PowerPoint 2019 # Sifestene aht TREfA i # Hg1eh ol 67

Options :

1. ¥ 3reTrsd (Align)



2. % gy (Guides)
3. ¥ mRfe&ars (Gridline)

4. ¥ Jpdinad (Check Boxes)

Question Number : 23 Question Id : 25498913410 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

With reference to big data, misspelled data, typos, duplicate data, erroneously parsed data refers

to

Options :

1. #* information

2. # knowledge

3. ¥ meaningful data

4. + dirty data

Question Number : 23 Question Id : 25498913410 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options:
1. ® g1 (information)
2. % S (knowledge)

3. ¥ 3RYYRUT 3T (meaningful data)

4.



¥ 3131y a1 (dirty data)

Question Number : 24 Question Id : 25498913482 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
Which of the following is not a raster file type?

Options :
1. % JPEG
2. # BMP
3. * GIF

4. % SVG

Question Number : 24 Question Id : 25498913482 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options :
1. % |JPEG
2. % BMP
3. % GIF

4. ¥ SVG

Question Number : 25 Question Id : 25498913831 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0
The DES Algorithm Cipher System consists of rounds (iterations) each with a round key.

Options:
1.4 16
2. %7
3. % 21

4. % 10

Question Number : 25 Question Id : 25498913831 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :
1.4 16
2. %7
3. % 21

4. % 10

Question Number : 26 Question Id : 25498918495 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

If printer is working and connected properly and doesn’t show any flashing lights, then the issue is

related to the:

Options:

1. * No paper



2. ¥ Printer driver
3. * Computer processor

4. * Paper jam

Question Number : 26 Question Id : 25498918495 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. ¥ IR

2. ¥ W SRER
3. % IR TR

4, ¥ tWR S

Question Number : 27 Question Id : 25498919278 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following is NOT a common network device?

Options :

1. * Router
2. * Gateway
3. # Switch

4. % LAN printer



Question Number : 27 Question Id : 25498919278 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options :
1. % IR
2. % fed
3. % gafa

4. ¥ LAN G

Question Number : 28 Question Id : 25498923900 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.AThink Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following file extensions indicates only graphic file?

Options :

1. % BMP and DOC
2. % TXT and STK
3. % |PEG and TXT

4.« BMP and GIF

Question Number : 28 Question Id : 25498923900 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : 0 Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. ¥ BMP 3k DOC
2. % TXT 3R STK
3. % JPEG 3R TXT

4. ¥ BMP 3R GIF

Question Number : 29 Question Id : 25498938494 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

You can print in fast or draft quality to save ink, using which of the following option of Windows 10
0S?

Options :

1. # Printing Preferences
2. # Page layout setting
3. * Font size setting

4. * Font style setting

Question Number : 29 Question Id : 25498938494 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
3Tq fSIsT 10 Mgy o AR & ¥ S afcherd 1 IUANT e TATE! TAT o AMQ dST AT S T[OTaT #
R R Tohd 872

Options :
1. ¥ RRMA YHR

2. % O3 oerae def



3. % hi-Z TS Yefil

N

4. % WZ oIsd A

N N

Question Number : 30 Question Id : 25498940407 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Which of the following is a software update comprised of code inserted into the code of an

executable program?

Options:

1. % aversion
2. ¥ an add-on
3. # atutorial

4. ¥ a patch

Question Number : 30 Question Id : 25498940407 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
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Options :
1. % g

2. % gg-3fiq



Question Number : 31 Question Id : 2549896757 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following CANNOT be used to send emails?

Options :

1. * Yahoo!
2. # Qutlook
3. # Gmalil

4. ¥ MagicBricks

Question Number : 31 Question Id : 2549896757 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
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Options:

1. # grg (Yahoo)

2. % 33 (Outlook)
3. # Sfie (Gmail)

4. ¢ Afeherfrd (Magicbricks)

Question Number : 32 Question Id : 2549898964 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

crawls the web to index it and provides information based on the user search query.



Options :

1. ¥ HTML

2. % HTTP

3. ¥ Search engine

4. * Hypertext

Question Number : 32 Question Id : 2549898964 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
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Options :

1. % HTML
2. % HTTP

3. ¢ g™ g

4. ¥ GEUHILC

Question Number : 33 Question Id : 2549899064 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
What is the full form of SAP in the context of data processing?

Options :
1. % Systems, Applications and Products

2. * Systems, Applications and Procedure

3.



# Sets, Applications and Products

4. # Sets, Application and Procedure

Question Number : 33 Question Id : 2549899064 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
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Options :
1. ¢ Systems, Applications and Products (SR[gHd, TUafhed U8 WIehed)

2. # Systems, Applications and Procedure (GR[cHH, Ty U8 TRIEGR)

3. ® Sets, Applications and Products (8¢d, TUafhe-d U TRIehed)

4. ¥ Sets, Application and Procedure (3cd, TUaihe U8 RIHISR)

Question Number : 34 Question Id : 25498911065 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
A collection of interconnected networks all over the world is called a/an

Options :

1. * intranet
2. % extranet
3. ¥ internet

4. * VPN

Question Number : 34 Question Id : 25498911065 Question Type : MCQ Option Shuffling : Yes



Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
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Options :

1. ® gxMe (intranet)
2. ¥ geAMT (extranet)
3. ¢ 3eAe (internet)

4. % g (VPN)

Question Number : 35 Question Id : 25498911867 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

While reviewing tracking changes in MS-Word 2019, which of the following options within the

Reviewing Pane group must be selected to view a list of all changes below your document?

Options :

1. * Reviewing Pane Vertical
2. % Reviewing Pane Left

3. ¥ Reviewing Pane Right

4. ¥ Reviewing Pane Horizontal

Question Number : 35 Question Id : 25498911867 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
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Options :

1. ® Qg 89 ax&het (Reviewing Pane Vertical)
2. % 3fqggm 09 e (Reviewing Pane Left)

3. # 3fqgg 44 7ge (Reviewing Pane Right)

4. ¢ Aqggn 49 gRfSiHea (Reviewing Pane Horizontal)

Question Number : 36 Question Id : 25498911939 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

A is a device that converts digital signals into an analog signal form that can travel over

phone lines. It also re-converts the analog signals back into digital signals.

Options :

1. ¥ modem
2. % port

3. * router

4. * codec

Question Number : 36 Question Id : 25498911939 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
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Options :

1.+ ArH



2. % URg
3. ¥ (X

4, ¥ RISH

Question Number : 37 Question Id : 25498912495 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
What does Quick Parts in MS-Word 2019 do?

Options :

1. # Inserts cliparts

2. ¥ Insert reusable pieces of content, including AutoText and custom text you create.
3. # Inserts date & time in the current document

4. # Inserts picture from a folder

Question Number : 37 Question Id : 25498912495 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 38 Question Id : 25498924645 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
ISO/OSI reference model has ____ layers.

Options :
1. * three
2. % four
3. ¥ seven

4. % five

Question Number : 38 Question Id : 25498924645 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
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Options:
1. % dF
2. % IR
3.¥ 91

4. ® U

Question Number : 39 Question Id : 25498924660 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Which of the following is the keyboard shortcut to open the paragraph dialog box in MS-Word



20197

Options:
1.¥vAlt+H+P+G
2. * Alt+H+A+O
3. % Alt+H+P

4, % Alt+H+ G

Question Number : 39 Question Id : 25498924660 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options :
1.¥Alt+H+P+G
2. % At+H+A+0
3. % Alt+H+P

4. % Alt+H+G

Question Number : 40 Question Id : 25498924669 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is delay in a communication over a network called?

Options :
1. ¥ Latency

2. * Throughput
3.



% Frequency

4. * Turnaround time

Question Number : 40 Question Id : 25498924669 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :
1. ¢ &4t (Latency)
2. % qxue (Throughput)

3. ® 37gdaf (Frequency)

4, % TEIRES THI (Turnaround time)

Question Number : 41 Question Id : 25498925208 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
In HTTPS, ‘S’ stands for:

Options :

1. * Single
2. # Server
3. # Simple

4. % Secure

Question Number : 41 Question Id : 25498925208 Question Type : MCQ Option Shuffling : Yes



Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.AThink Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
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Options :

1. % gfiat (Single)
2. % TR (Server)
3. ¥ gfud (Simple)

4. + TiRTR (Secure)

Question Number : 42 Question Id : 25498925273 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which Network topology requires multipoint connection?

Options :
1. % Star
2. * Ring
3. ¥ Mesh

4. % Bus

Question Number : 42 Question Id : 25498925273 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.AThink Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
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Options :



1. ® H2Rr (Star)
2. % I (Ring)
3. # 7 (Mesh)

4.+ §9 (Bus)

Question Number : 43 Question Id : 25498938392 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Web services are offered using the concept of computing.
Options :

1. utility

2. * pervasive

3. # ubiquitous

4. % DNA

Question Number : 43 Question Id : 25498938392 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
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Correct Marks : 1 Wrong Marks : 0
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Options :
1. ¢ IgaTfar (utility)
2. % gy (pervasive)

3. % IRaqardt (ubiquitous)

NS



4. % DNA

Question Number : 44 Question Id : 25498941569 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
The radix (r) value of the octal number system is

Options :

1. % 16

4. % 10

Question Number : 44 Question Id : 25498941569 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
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Options :

1. % 16

4. % 10

Question Number : 45 Question Id : 25498941573 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0
The decimal equivalent of binary 101 is

Options:

Question Number : 45 Question Id : 25498941573 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 46 Question Id : 25498941587 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which MS-Excel 2019 function is used to return the seconds of a time value?

Options :
1. % SECOND()

2. *= VLOOKUP()



3. * FIXED()

4. = FIND()

Question Number : 46 Question Id : 25498941587 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
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Options :

1. % SECOND()
2. % VLOOKUP()
3. # FIXED()

4. = FIND()

Question Number : 47 Question Id : 25498941598 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

In MS-Excel, to change the reference from relative to absolute, you need to add the sign

before the column notation and the row number.

Options :

Question Number : 47 Question Id : 25498941598 Question Type : MCQ Option Shuffling : Yes



Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options:

Question Number : 48 Question Id : 25498941614 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
The function is used to sort data in MS-Excel 2019.

Options:
1. % SORT
2. % FILTER
3. ¥ SQRT

4. ® FILT

Question Number : 48 Question Id : 25498941614 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :



1. ¢ 9Re (SORT)
2. ¥ wfeeX (FILTER)
3. # SQRT

4. ® FILT

Question Number : 49 Question Id : 25498941618 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Suppose there is a table in MS-Excel 2019 containing marks of students of a class. If we want to
filter the data in the table to display only the details of students who scored more than 70 marks,

the option is used.

Options :
1. * sort
2. % custom sort
3. ¢ filter

4. * custom select

Question Number : 49 Question Id : 25498941618 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
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Options :

1. % IR (sort)



2. % TyeH 9ke (custom sort)
3. ¢ wfeleR (filter)

4. % syed Fleie (custom select)

Question Number : 50 Question Id : 25498941637 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
is the logical function used in MS-Excel 2019.

Options :

1. % AND()

2. % VLOOKUP()
3. # SQRT()

4. % DATEVALUE()

Question Number : 50 Question Id : 25498941637 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. % AND()

2. % VLOOKUP()
3. # SQRT()

4. * DATEVALUE()



Question Number : 51 Question Id : 25498941639 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
is the date function used in MS-Excel 2019.

Options :

1. % IK()

2. % VLOOKUP()
3. % AVG()

4. " DATE()

Question Number : 51 Question Id : 25498941639 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
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Options:

1. % IK()

2. # VLOOKUP()
3. # AVG()

4. ¥ DATE()

Question Number : 52 Question Id : 25498941643 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
is the file extension used to save an MS-Excel 2016 workbook as Macro-Enabled Workbook.

Options :



1.4 xlsm
2. % xls
3. % xlsv

4. % Xl|ss

Question Number : 52 Question Id : 25498941643 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options :
1. % Xxlsm
2. % Xxls
3. # xlsv
4. % Xxlss
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None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (53 to 57)

Read the given passage and answer the questions.

The use of a sea port is very important for any country; it is an essential link with the outside

world.

Land and air transport are efficient and modern, but while Aeroplanes are satisfactory for carrying
people and lighter cargo, and some goods can be carried by trucks, nothing can take the place of
big cargo ships for transporting the huge amount of material that flows in and out of all countries

nowadays.

‘Land-locked’ countries, with no sea port of their own suffer a serious disadvantage in trade with
the outside world. The use of another country's port can be costly, and getting their goods there is
often difficult. But on the other hand, island countries like Mauritius, Sri Lanka, Seychelles etc. are
totally dependent on their ports for almost all their imports and exports and it is essential for their

ports to be efficient and well-constructed.
The first requirement for a good port is water deep enough to allow the passage of a large ship. A
good port also needs to be sheltered from strong winds and seas, and in many places protective

walls called ‘breakwaters’ are built to provide better shelter within harbours.

A modern port also needs all the necessary facilities for handling cargo. There must be docks for



the ship to berth at, and cranes and lifts for moving cargo. Storage facilities are also necessary,
and for some goods special storage facilities are needed, for example for storing petrol large

tanks are built near the port.

Some ports also have the facility for repairing ships. These repair areas are called ‘dry docks'’
because the water in them can be pumped out leaving the ship high enough for work to be carried

out below the waterline. Large ports like Mumbai and Mombasa have such facilities.

Sub questions

Question Number : 53 Question Id : 25498921242 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
The use of a sea port is important for every country because:

Options:

1. # aeroplanes are expensive to use

2. ¥ ships can carry huge quantities of cargo

3. * ships connect a country with the outside world

4. % without ships a country cannot survive

Question Number : 54 Question Id : 25498921243 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
Countries with no sea ports of their own are at a disadvantage because they:

Options :
1. % are surrounded by land from all sides.
2. * are not able to send many good to other countries

3. # have to use planes to send their goods



4. ¥ have to pay to use the ports of other countries

Question Number : 55 Question Id : 25498921244 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
It is important for island countries to have efficient and well-constructed sea ports because:

Options :

1. * they have many goods to send to other countries
2. # they do not have many airports

3. ¥ they depend on their ports for most of their trade

4. # they need to repair their ships quickly in the dry docks
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: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following IS NOT an absolute necessity for a good port?

Options:

1. % Dry- docks for repair of ships.

2. % Asheltered harbour

3. * Deep waters for passage of large ships.

4. % Storage facilities for cargo.
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Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



The first two paragraphs in the above passage stress on

Options:

1. #* building a sea port for transportation of goods.
2. * the use of ships and planes to carry cargo.

3. ¥ Importance of trade between different countries.

4. ¢ the importance of a sea port for a country.

Question Id : 25498921241 Question Type : COMPREHENSION Sub Question Shuffling Allowed
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What approximate value should come in place of the question mark (?) in the following question? (You are not
expected to find out the exact value.)

6% of 248.65 =7 0f 2398.59

Options:

Ul | B

= | =

w
it
ra |

|
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| ka



b |

B | et
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Which one of the fractions

R

o
Q|
il

, % represent less than twenty per cent?

Options :

5
&

Wb
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5
6

L]

| 3

Question Number : 60 Question Id : 25498928821 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

What is the approximate value of the given expression?
96.996 x 9.669 + 0.96

Options :

1. % 860

2. # 870

3. # 1020

4. % 940
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96.996 x 9.669 + 0.96

Options :

| % 860

, % 870

5 % 1020

4. v 940
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A bus and a car are both traveling in the same direction. At one time, the bus is ahead of the car by
30 km. The speed of the bus is 60 km/h. After 2 hours, it is observed that the car is ahead of the
bus by 100 km. What is the speed of the car?

Options :
1. ¥ 100 km/h
2. % 115 km/h

3. % 120 km/h



4. 125 km/h
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Options:

1 = 100 Trersey/Eer

5> % 115 TraidEey/Eer

3 % 120 TFeEREy/Eer

4 v 125 Trere/aer
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The area of rectangular field is 3584 m” and its length and breadth are in the ratio 7 : 2. What is the perimeter of
the field?

Options :
1. % 246 m
2. %292 m

3. % 286m



4.+ 288 m
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1. % 246 #HreT

> % 292 AT

3 % 286 HeT

4 v 288 HEX
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Vivek sells a pen at 5% loss. Had he sold it for ¥10.40 more, he would have gained 8%. If he sells it

for 100, what will be his profit percentage?

Options :
1. % 15
2. # 18

3.% 20



4.+ 25
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Options :
1 % 15
> % 18
3 % 20
4. 25
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Select the option that is related to the third word in the same way as the second word is related to

the first word.

Visitor : Invitation :: Witness : ?
Options:

1. % Subpoena

2. % Permission

3. * Revocation

4. % Document

Question Number : 64 Question Id : 25498910144 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
39 afcheTd T T htaif STt IR 2ree d I AR Heefad @ ST qRehR gERT 6E U Uee 4 daufd g

SR : AFGROT : : TaTg : ?
Options :

1.



Question Number : 65 Question Id : 25498912844 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : 0 Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Study the given alpha-numeric-symbol series and answer the question that follows.
SK6E£Q2R*CF8E$G2#49LN3UV5YaB7W9

S K £ isrelated to 9 W B in the same way as Q 2 * is related to:

Options :

1. % avU

2. % a¥Y5

3.%7BY

4 ¥+ aYV
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Options :
1.* aVU
2.% aY5
3.#7BY

4. ¥ a¥YV
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The following question is based on the given English alphabet.

ABCDEFGHIJKLMNOPQRSTUVWXYZ

If the given alphabet is written in the reverse order, what will be the fourth letter to the right of

the thirteenth letter from the left?

Options:

1.¢
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ABCDEFGHIJKLMNOPQRSTUVWXYZ
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Options:
1. ¢ |
2. % K
3.% L

4. = M
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Jumbled letters of a meaningful word are given. Rearrange these letters and select from the given

options the word which is almost similar in meaning to the rearranged word.
EUGAFTI

Options :

1. ¥ Weariness

2. * Sweating

3. * Tension

4. * Drowsiness
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EUGAFTI

Options:

1. ¥ Weariness
2. * Sweating
3. * Tension

4. * Drowsiness
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The following sentence has the first word and the last word left out. Select the pair from among
the given options that will fill the blanks sequentially so that the sentence becomes true and

sensible. Only one pair is correct.
is to Land as Navy is to

Options :

1. * Ship - Infantry

2. ¥ Army - Sea

3. #* Ground - Sea

4. % Marine - Air
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Options :

1. ¥ g1t - et
2. ¢ I I - IR
3. % ol - 9qR

4, % T -9
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Four words have been given, out of which three are alike in some manner and one is different.

Select the word that is different.

Options :

1. % Kennel
2. ¥ House
3. # Stable

4. % Aviary
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Options :
1. % AR
2. ¥ HahH
3. ® gded
4, ¥ gepdl-eR

GENERAL AWARENESS
SectionId: 2549897626
Section Number : 5
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 6
Number of Questions to be attempted : 6
Section Marks : 6
Display Number Panel : Yes

Enable Mark as Answered Mark for Review and

Yes
Clear Response:
Maximum Instruction Time: 0
Sub-Section Number : 1
Sub-Section Id : 2549897667
Question Shuffling Allowed : Yes
Is Section Default?: null

Question Number : 70 Question Id : 2549895349 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0
The R - 12 structure oil field is near:

Options:

1. % Mumbai

2. % Machilipatnam
3. * Visakhapatnam

4. % Naharkatia
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Options :

1. ¢ Hag
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With reference to the food chains in ecosystems, which of the following kinds of organism is/are

known as decomposer organism/organisms?

1. Viruses



2. Fungi

3. Bacteria
Options :

1. % Only 1

2.% Both2and 3

3. ¥ Both1and 3

4. % 1,2and 3
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The Union Ministry of Environment and Forest approved in principle a proposal for Western Ghats
Development prepared by K Kasturirangan-led panel. The panel has recommended a ban on

development activities in around 60,000 sg.km ecologically sensitive area spread over:

Options :

1. * Gujarat, Andhra Pradesh, Tamil Nadu, Maharashtra, Kerala and Karnataka
2. ¥ Qujarat, Maharashtra, Goa, Karnataka, Kerala and Tamil Nadu

3. # Odisha, Maharashtra, Goa, Kerala, Andhra Pradesh and Tamil Nadu

4. # Karnataka, Odisha, Gujarat, Kerala, Maharashtra and Tamil Nadu
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1. ¥ TORId, SMUR YA, dHIHTG, HERINER, hicl Ud ehiATeeh
2. ¢ TSRId, HgRINER, 7T, AT, e Gd dHfeHTg
3. ¥ 3MISfRA, AGRINER, T, e, 3ieR YZasT Ue dHierrg

4. % HATCH, ISIRAT, ORI, e, HERIN Td dAlerHTg
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Maria Sharapova won the Australian Open 2008 Women's singles by defeating:

Options:



1. ® Shahar Peer
2. % Ana Ivanovic
3. * Sania Mirza

4. % Kateryna Bondarenko
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1. % mgrdR

2. ¢ U1 gaEEr
3. ® g aksn

4. % G SERE
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Match List-I (President as on October 2021) with List-II (Countries they belong to).

List-I List-II

A. Hakainde Hichilema 1. Kenya

B. Filipe Nyusi 2. Mozambique

C. Emmerson Mnangagwa|3. Zambia

D. Uhuru Kenyatta 4. Zimbabwe




Options :

1.*A-1,B-2,C-3,D-4
2. % A-2,B-1,C-3,D-4
3.vA-3,B-2,C-4D-1

4. % A-1,B-2,C-4,D-3
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1.*A-1,B-2,C-3,D-4
2.%# A-2,B-1,C-3,D-4
3.¥A-3,B-2,C-4,D-1

4. % A-1,B-2,C-4,D-3
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The Nehru-Liaquat Pact between India and Pakistan was signed in 1950 to resolve the issue of:

Options:

1. ¥ The protection of minorities.

2. * The accession of princely States.
3. ¥ The border disputes.

4. #® The problem of refugees.
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3. ¥ darafare

4. ¥ RURARAT Al gagAT
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Summer camps are supervised camps conducted to entertain as well as equip students with
various life skills such as teamwork, socializing, decision making, independent and

responsible living and more. It aids the overall development of a child and children have fun



during this process as they get to explore new arenas.
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Literature has been considered as the repast of the elite and the educated. Literature most
commonly refers to works of the creative imagination. The literary author is assumed to
inhabit the legendary ivory tower which is far removed from the practical concerns of
everyday life. Hence times immemorial the study and production of literature has been
regarded as a wasteful activity because the end product is not tangible or directly and
immediately profitable. Discoveries and research in science and technology have led us to
the Moon and back but many people wonder how the publication of a new book or a unique
research paper benefitted mankind. The famous German writer and statesman Goethe felt
otherwise. He believed that the decline of literature indicates the decline of a nation. The
renowned politician Aeneas Sylvius also believed that every age without letters is dark.
Literature captures human experience and all those abstract ideas that we know intuitively
but do not understand unless we explore them in stories and discuss them with others.
Language forms the soul of literature and to understand its aura one should have the ability
to play with the words to put forth his emotion. The works of William Shakespeare and Jane
Austen speak volumes about their romance with literature. In fact the Indian epics like

Ramayana and Mahabharata are the rich literary pieces which are being passed as a legacy



from generation to generation. The most astonishing facet of literature is that it
encompasses history but on the other hand history cannot encompass within itself the
elements of literature. Literature sometimes works as a historical chronicle. Shakespeare
wrote many historical plays depicting the political and social state of Britain at different
periods of time. Hence literature can easily reveal to us a piece of history of our land and
make it easy for us to learn incidents by heart. It is a prevalent opinion that literature like
all arts is a mere play of imagination. We may discover meaning in literature by looking at
what the author says and how he says it. Literature is important to us because it speaks to
us and it affects us. Literature is beautiful even when it is tragic. Bringing literature into
your mind elevates your thinking process. Literature expands your learning and helps you in
writing and understanding different phrases. Literary works are portrayals of the thinking
patterns and social norms prevalent in the society. They are a depiction of the different
facets of the life of a common man. Classical literary works serve as a food for thought and a
tonic for imagination and creativity. Exposing an individual to good literary works is
equivalent to providing him with the finest of educational opportunities. On the other hand
the lack of exposure to classic literary works is equal to depriving an individual from an
opportunity to grow as an individual. Though languages form the building blocks of
literature the study of literature cannot be restricted to only studying languages. A degree
in language and literature is perhaps unable to provide with everything that literature can
offer. Literature is the foundation of life as it provides the ability to connect human
relationships and helps one to cultivate their faculty of reasoning and thinking logically.

Therefore words are alive more than ever before.
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